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@ pandas® A A+—)L
Windows PowershellFT> D #&IZpy -m pip install pandasz A 53
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import numpy as np
arr1=[" A" ]*5 + ['B ]*5 +[ C J*5+[ D" J*b+[" E ]*5+[ F J*5+[" G ]*5+[ H J*5+[ 1" ]*5+[" J ]*5

arr3=[np. random. randint (0, 100) for i in range(50)]

arr2=[ B8 . &% EKE . ER, 2L 10 } R T —4% S

print(arrl)

print (arr2) T—AR%5FELHB
t(arr3) ’
orint Garr data=list(zin(arr1.arr2.arr3)) DataFrameZz {E ik .

import pandas as pd / %*ﬁI:DataFrame(data:T -

dataglist(zip(arrl,arrZ, arrd)) | /

df=jod- DataFrame (data=data, columns=[ Al , 20+ , m2L )]

[df. info (]

print () — s _

df[:5] ADSITIEITR R

2E R =#

: : F.
[ AP R At A i
[EFE, &¥, #FE, Bi, #% EHFE.
#H=, EFE . CHEF ORFE L OCBEH, #HRx

TEE RSB OCEFE, #HE, EE OHTE,
EEE W H%E ERE L B #HE, EBEE, i

TR, THK, TEE, CHF, EE OEH |#s, BFE . OHE . ORE OB, #%, BEE aae

TEEE, IER, #E, TEFE OHE . OCER B #HE 1 A ;ﬁ[% 47

[8, 47, 63, 32, 62, 24, 20, 96, 53, 63, 53, 4, 44 38, 71, 45 61, 5 97, 86, 44, 79, 84, 96, 99, 18, 59, 43, 7

6, 85, 90, 8 77, 26, 0, 59, 72, 98, 97 51, 28,32 21, 6, 67, 11, 18, 91, 94, 79]

<{class 'pandas.core. frame. DataFrame' > =

Rangelndex: 50 entries, 0 to 49

Data columns (total 3 columns):

# GColumn Non-Null Count Dtype

e - DataFrameDF#xH 71 dfinfo 3 A BB 32

2 A =FE 63

50 non-nul | object
1 ##H 50 non-nul | object
2 mR# 50 non-nul | int64 4 A ?j:% 62

dtypes: int64(1), object(2)
memory usage: 1.3+ KB -
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df [ /& 1[:10]

0 77 df [ #2448 ]=[np. random. randint (0, 100) for i in range (50) ]
1 73 df [:5]
2 15
3 43 .
P 2m w8 = [ma | JIDIEM
6 35 _
] 35 0 A EE 77| 82
8 0 1 A BHE 73| 81
9 32
Name: gs=%f dtype: int64 2 A ZEE 15 85
3 A IERl 43| 52
4 A = 98| 11
5D EI &

del df[ ‘3CF’ ]
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2 #1=[DataFrame].append([DataFrame])

new_data=[ ('K, E:& ,6 95, 89), (K, 6 "#=¢ 87, 71), (K 6 "3:5& ,69,93), (K, K6 "¥EF'  73,52), (K, 6 "#t%&", 54 60)]
new_df=pd. DataFrame (data=new_data, columns=[' &£’ , &', i, #8xX'1)
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df23df. append (new _df, ignore_index=True)
df2 453
a1 FE [ B8S——
0 A EE 77 82 4
46
1 A BFE 73 81
47
2 A D255 15 85 48
3 A HEHRl 43 52 49
4 A HE 98 1 >0
51
52
53
54

J EE | 62 92
J BF | 94 53
J HFE | 46 94
J IER | 24 3
J #%= | 97 84
K EFE | 95 89
K #%% | 87 71
K ZEE | 69 93
K 28 | 73 52

K & 54 60

df2
df2
df2
df2
df2
df2

1TIZEMT—4
loc[row+#F=[B 0T —%]

(rows, cols)=df2. shape

.loc[rows]=['L", EEE , 15, 20]

.loc[rows+1]=["L", %", 25, 30]
.loc[rows+2]=["L", Z3& , 35, 40]
.loc[rows+3]=["L", %l 45, 50]
_loc[rows+4]=["L", #£&", 55, 60]

tail (10

\

HEDT—R210THERT
BEM 10171, df2.head(10)

K& #d bl Hxk
50 K EE 95 89
51 K #% 87 71
52 K ZE 69 93
53 K Bf} 73 52
54 K ft&= 54 60
55 L EE 15 20
56 L 8% 25 30
57 L %3 35 40
58 L B# 45 50
59 L #t= 55 60




df2. index=1ist ( abcdefghi jk ImnopqrstuvwxyzABCDEFGHIJKLMNOPQRSTUVWXYZ12345678" )
df2. head (10)]

i Hizxk K& 3F# R HiFE
51 88 al A E=E 51 88  df2. iloc[23:28] df2. loc[ x" *"B']
43 1 b A H¥ 43 11 K4 #H#E diE Hx
47 15 c| A TE 47 15 23 x E & 20 29
64 1 d| A BR 64 1 24, £ x2 38 20
~ 25

69 51 [Cyle| A #HE 69 51 o6 z e T
91 73 fl B EE 91 73 .

27 A F 2% 79 33
7 23 g B #F 7 23 )

28 B F 23 53 56
30 54 h| B %:E 30 54
093 96 i| B BR 93 96
27 51 j B #ft= 27 51




df2. loc[’'x' 'B' 1.1 locCTHRELEEZTI. T1ZES

P HE X y 2 A B

20 29
g2 2 2 5 57 df2.T. loc['x' :'B']|

= RIRSNELY

38 20 B 2R e EE 5%

iy
il

23 1505 i 20 38 23 79 53

n 33 Bk 20 20 15 33 56
53 56

@ df2. TMloc[0:5]

a b ¢ d e f g h [ i o Y 'z 1 2 3 4 5 6 7 8
K% A A A A A B B B B B . K K K K K L L L L L
BB EE OF =B OERN idx EE BF B OERN im0 BFE BF RFE EN o BEFE BT RE OEN 45
R 51 43 47 64 69 91 7 30 9 27 .. 9 8 69 73 54 15 25 35 45 55

FiZx 88 11 15 1 51 73 23 54 96 51 .. 89 71 93 52 60 20 30 40 50 60



?—QODHQ?%E} [DataFrame] [ “5l4’" Junique()

print(df2[' &4 ]. unique())
print ()
print (df2[ & 1. unique())

print (df2[" #f& 1[:5])
print ()

print ((df2[" &f&E" ]*2) [:5])
print ()
print ((df2[" &pfs" 1//10) [:51)

@ K& 3N R Bk a 43
b 90
['A B 'C'D'EF G H T TJ K L] a A [E3EE 43 44 c 58
412
[EE &Y RE CBR #R] b A HF |00 | 55 e 0
c A HE |58| 39 Name: R,
2
d A BR |[12]| 75 2 86 H
b 180
e A 2 0| 59 c 116
d 24
f B [EE 22 6 = 0
Name: &f&, dtyp
g B #HF 6 87
) a 4
h B =fE 48 57 b 9
. C 5
i B #& 95 75 ﬁ 0

ame: HfE], dtype: int64



g =t M RBEZ(EDT—2IEEDHLLLY)
df2. sort_values ([ i’ ], ascending=False) [:10]
print( &5t: %" % df2[ ®fE 1. sum())

print ( F#:%s’ % df2[ &R’ 1. mean()) Z#M=[DataFrame].sort values([%] 1,ascending=E{&{E
print( g %s’ % df2[ &hfE’ 1. median()) x;& [ ] _ ([51 ]’ J ﬂ%ﬂ_ )
print( &/ %" % df2[ &R 1.min()) =415
orint ( Bk % % df2[’ RS 1. max () E& B8 TE WK frue — ﬂilL
— False — [&lE
_ m C 4|z 2 97
&51:2776 ﬁ
F14:46. 266666666666666 1 K X#E 69 03 falsed £S5 (=N T2 Tt
:9&:44_0 G G H@E 65 92 MR
=/ 0
2497 x E MR 54 92

— _ L r D =5 40 91
&:t [Series].sum

T4 [Series].mean o C = T4 89

R [Series].median Y K E&E 95 89
/N [Series].min q D #¥ 78 87
K [Series].max e B BE 6 &

| G ft&= 8 84



grp. mean ()

P —F L R EBABE, BREERLT
il / . BB DSBS TMREEELET EoBR

#H
srt=df2. sort_valyes( 'thfE’, " HAX' ]| ascending=False)
gt el first BYIDT—4FR EE 48166667 37.250000
head
= ., e — #EF  49.416667 53.916667
last IEDT—EKR
tail HEf 42.166667 44.750000
DI — |
% #=[DataFrame].groupby(51l4) it& 43.083333 57.833333
K# 9 HiEk
REE 48.500000 61.166667
e
&5t [Groupbyl.sum ()
A3 =
Hm K989 E1# [ Groupby ].mean ()
g2 c 97 16 th3e [ Groupby ].median ()
/N [ Groupby ].min ()
B D 85 21 X [ Groupby ].max ()
7288 [ Groupby ].var ()
#& B 95 75 Z#¥{mZ= [ Groupby ].std ()

T—4% [ Groupby ].count
REE J 96 31 by Y
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grp2=srt. groupby ( £ ")
grp2.sum(). sort_values ([ #2f&",  #§>k 1, ascending=False)

il HAR

r m r O O M m < O X

378
366
287
259
231
223
208
203
189
175
173

84

365
229
217
276
118
283
321
272
306
200
279
193

:IFEﬁo) K& HE Hk
2
EzE K 95 89
gqF C 97 16
i D 85 21
= B 95 75
REE J 96 31
grp. agg(['sum’, "'mean’, 'median’, "'min", "max’])
i A=
sum mean median min max sum mean median min max
578 48.166667 41.0 95 447 37.250000 395 2 89
593 49.416667 41.0 97 647 53.916667 545 16 87
506 42.166667 42.0 85 537 44.750000 445 8 92
517 43.083333 435 95 694 57.833333 60.0 5 89
582 48.500000 48.0 96 734 61.166667 61.0 7 97



. s —p L
WEQT =7 &mIET AR, BRLTh80LLE
grp2=srt. groupby ( K4 ')

grp2. get_group (' A’).sort_values ([ #f&’ 1, ascending=False) df2. query (' &Afd >= 80 & EiX >=80")

Z #=[Groupby].get_group(y V—7"4) ke BE B Wk
K& HA R Bk

Y K [E&E 95 89

b A {E 90 55

c A TE3E 58 39

a A EE 43 44 hREIEEARDEETAL70LLE
d A BBl 12 75 df2. query (' BfE+EAK >=170")
e A ft®m 0 59 Kg %H R Bk

j B %= 95 75

Y K [EzE 95 89
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df2. pivot_table(values=" &’ , index=[' &£ 1, columns=[" %l 1)

ZE#=[DataFrame].pivot_table(values=[Fl| ],index=[5!],columns=[5l]])

#H EE ¥ HN s RSE

K&
A 43 90 12 0 58
B 22 6 18 95 48
C 21 97 14 74 2
D 68 78 85 95 40
E 56 32 54 69 48
F 94 10 2 33 92
G 91 47 12 8 65
H 17 22 39 2 4
| 17 35 72 24 25
J 39 64 80 8 96
K 95 87 73 54 69
L 15 25 45 55 35



